
https://www.pass2lead.com/vcap5-dcd.html
2024 Latest pass2lead VCAP5-DCD PDF and VCE dumps Download

 

 

 

VCAP5-DCDQ&As

VMware Certified Advanced Professional 5 - Data Center Design
(VCAP5-DCD)

Pass VMware VCAP5-DCD Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/vcap5-dcd.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

 

 

VCAP5-DCD VCE Dumps | VCAP5-DCD Practice Test | VCAP5-DCD Braindumps                                1 / 3

https://www.pass2lead.com/vcap5-dcd.html
https://www.pass2lead.com/vcap5-dcd.html
https://www.pass2lead.com/vcap5-dcd.html


https://www.pass2lead.com/vcap5-dcd.html
2024 Latest pass2lead VCAP5-DCD PDF and VCE dumps Download

QUESTION 1

A software vendor-provided best practice should be adhered to ___________. (Choose two) 

A. where possible, respecting other project requirements 

B. at all times because the vendor wrote and designed the software 

C. in the absence of other requirements as a guide to configuration 

Correct Answer: AC 

 

QUESTION 2

When using VMware HA, the larger the consolidation ratio, the smaller the potential impact to the business in the event
of a VMware HA event. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

Storage DRS can be enabled and can balance I/O levels based on _______________ 

A. real-time stats 

B. historical stats 

Correct Answer: B 

 

QUESTION 4

You are designing a VMware HA cluster as part of a solution for a large enterprise. One of the specific requirements is
to remove the risk of impact to a DRS outage due to possible fragmentation of resources leading to performance issues.
Which of the following statements is correct? 

A. VMware HA will automatically protect DRS in the event of a HA event. 

B. A virtual vCenter cannot be used in this solution. 

C. vCenter heartbeat would need to be implemented to protect the vCenter and dependent services DRS uses for this
level of protection. 

Correct Answer: C 
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QUESTION 5

You are working on a virtual guest design for the deployment of a critical business application. The software vendor has
provided you with some projected workloads. One of the project requirements is to ensure that business application
performance is guaranteed. Which of the following would be the best approach for guest configuration? 

A. Configure the virtual guest with a reservation, as specified, as the minimum requirement for the application to run. 

B. Configure the virtual guest with a reservation, as specified, as the projected initial workload requirement. 

Correct Answer: B 
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